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Seed name 4R SF
1 1 Sl R WEESAYSURTFZRYST
BERFE BABSAVYSURT=RYS5T  |mwax/ 58 5E
2 bye
bye B R/ ER EE
3 &% BiE EHPLAYELRTZRYIFT 6161
K B BHAEAAVELRTZRYST  |EE L/ wE s
4 &l £ tennex w.0
#HE s tennex B R R BE
5 BB R BAEENET_RI5T w.o
Prep —k BAMENGET-RI57  |mmuwr/ me—x
6 bye
bye
7 bye w.0
bye $A B/ Bl F
8 #BAK S0 BHRE
=l (#) T/ (4L B R/ BR BE
9 R &% BEO—T=RY5T 76(6) 60
Bl AR BHRE R BE /Bl BR
10 bye
bye R %%/ BLHAR
11 bye 61 62
bye B3 E / BE AE
12 BH E BETn—>7=X957
EH ARE BEETO—F =957 (M H— B / 85K D
13 INERY fE—ER BHRHFFAVELRTZRYIST 63 63
AR EE8B BEHELAIVEVRTFZRYST  |mnam—m/ 6k 26
14 bye
bye NS HE— BB / K )
15 bye 64 62
bye Bi 58/ B BE
16 B+ {8 BAMENET X957 A
—E BE tennex R ER BE
17 3 IR HE EErO—>7=X49357 63 75
i FE BIETO—F=RH957 TR S / 5 5
18 bye
bye IR $E / B B0
19 &8 BAMENET-RI5T 60 60
=% & BAMENGET-RI57 |50 ms/ n@m s
20 B0 EE tFOvyoR W.0
FAFE TEAE ERO—> TR S / B 55
21 M RE BAT=RY5T 6162
A= BAT=RY5T 3 BEE /M 3
22 bye
bye NI %=/ $E FE
23 bye 36 64 7-4
bye NI K=/ #HE RE
24 NI = BHRE
#E FIE FYYRR—YRIITE R HE /B AN
25 Rk SR BAMENET=—R95T 6375
&K it BAMENGET-RI57 |emsa/ okt
26 bye
bye B SR/ 8K T
27 bye 62 62
bye HE FEB /B B
28 HHE FA MIT
=i B MRT=RYIST R FIE / i B
29 kIR FE #WENET=RIST 62 62
Ik BRER Y RXTGTC KR FOE / IV BB
30 &L FiE EfRO—> 81
ERIES F7H¥I/A—r SRR R / IV S F
31 bye 64 64 WINNER
bye FAR IER / BD S A FigEx/ERXE RO RS/ ARRE
32 R EFD HET=-REEE B RE %8/ Hk A% | 62 63
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name 4R SF
33 £H =8 HET=REREER
EERRE HET=REEE B %8/ Bk BE
34 bye
bye BE A/ EE AR
35 bye 61 60
bye NG BB/ HEE -
36 NG 5B ENO0—25F=R957
EHE E— ENO0—25F=R957 B xH/ Bk RE
37 Bk BE BEETO—> 7T =957 6162
N & BEETO—F=RH957 B (2 / Wk BE
38 bye
bye B EA /W Sk
29 bye 64 63
bye I A / W Bk
40 &R HET=RY57
13 shsE BHRE B RN/ EE RE
41 HH #¥A REHFO—T7=-X957 7563
BY EE REHFO—2T=-R957 |sm#s/BES
42 bye
bye HM #4 /B ES
43 bye 62 61
bye BAT SHE / P B
44 =4 FER BHRE
FAIER BEddt BHRE BE 8%/ D6 ED
45 BHRNEZ EErO—>7=X49357 63 62
HK ER BEETO—>7=X9357 A9 IES /K R
46 AN HEO—T=XY57 84
[ric) sz =) HEn—7T=R937 B —BE /B R
47 bye 60 61
bye HE —BE / EE R
48 EH —&E SRAATZRIST B
U BRER WRAVS—F AP NFoRIZA=TA— B xH/ Bk RE
49 BRIR B KNETF=RI5T 60 62
E B KARET=ZRIST FRI EME / BE
50 bye
bye IR E / E R
51 bye 62 63
bye KiE K/ A B
52 KiE BX BAMENET=—R95T
ER Z=EB HRA—VT=RY57T FEIR R/ E B
53 INE FKF) HBERS)—VT=RY5T 6160
REEP At HERS)—TZRI5T | nw 58/ 0% s
54 bye
bye INE #5T) / RS s
55 bye 60 64
bye 5P HER / KA EA
56 EAali: BHRE
&HE EA BHRE 8K E / B A
57 AR SIS HET=REZE wo
He & ERAPIAVEVRTZRYST |k kR Bk
58 bye
bye 85K SBE / B IR
59 bye 26 63 7-0
bye R /KK
60 ik & ZHEBO— T REEER
KK # FHEO—2 T REEE %K K / B &
61 Bl RE HWET-RY95T w.0
KL BN TR T = R{EEER Y RE ) HET B
62 WA & BEETA—7=X4957 98(8)
EIR 1 BEIO— 7T =957
63 bye wo
bye HE ¥ /R RER
64 HA & RET—RE
HWE RER RET=—X&




